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HW Check
Notes
HW #1-6

IReminders
Grades must be

made up by 4:10
today.

Extra credit due
by 9:00AM
Thursday.
Turn in

bathroom
passes!!

warm-Up Tuesday

1. Draw the tiles & complete the square for x2 + 12x

| \! _* XZF\ XY 30

(3 @)(X rl) = b@rb}z

2. Simplify the radical V88

8% \§-22

%7,
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QuEestions, Commeéents, Conceérns?e

Algebra 1 Unit 8 Completing the Square Day 1
Practice - Completing the Square Day 1

Name Date Period

1. Draw a tiles to represent the polynomial x* +10x.

2. How many small "1" squares would you use to complete the square shape?

3. What is the polynomial that represents the completed square shape?

4. Using what you know in questions #1-3, use completing the square to solve the equation x* +10x=11.

Solve by completing the square.
5. x*-8x-1=8 6. x*+4x =12
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Solve by completing the square.

x2—4x—g;\0/ 2. X* 4+4x+2=0
. +5 +5 -2 -2

X =+ = 514 XH+uxtd = -2+ 4

g0-2* LA

X-21=1%13 -2 =2

—2= D X-2="<
er22 g‘z_AN x+22 132 Y= ~Z i\ﬁ ?ff
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What is a quick way to find out what
number completes the square?

oXF+lox + C

1 o
o\2 V&)
3

Co ™ PIRIS
\ne SOD\@“ ¥
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Solve by completing the square.

2 _Qy 04— . 3x2+6x-9=0
3. 2Xx° —8x 49@_\ 4 X+X+\2

| 2x%-ex = 24 2HY = 9
| 2(xuxei)=2ealh B0

t9

=4 7/
z AND M»\

I I
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Solve by completing the square.

1 5. 3 +7x = 36+2§ +3x 0. 2x* +8 = —6X + X°
|  —2x*

XX = %*é/
)
X% Yy4_=3\gt__

Finign (e novma\ .
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[ - Unit 8 Completing the Square Day 2

April 05, 2016

«ctivity - Solving Quadratics by Completing the Square Day 2

2 problem and choose which answers are correct. The correct answer corresponds with a number and color on the
sheet. Color everything with the number 1 with either red or brown depending on which answer you get.

# Complete the Square Answer 1 Answer 2
1 x?+4x-12=0 =26 =62
Red Brown
X -7.1 -1,7
2 2x? +12x =14
Light Brown Orange
-1,3 =&l
3 x*-3=2x
Yellow Orange
a ' +3210x 45 x =5+27 x =5+4/30
Yellow Orange
5 2x* —6x=x>-4 —315 3475
Orange Red
No real solutions 2122
6 3x* +12x + 81 =15
Red Brown
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Algebra I - Unit 8 Completing the Square Day 2
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No Work no credlt = NOo klddlng'

(p0331b1y the least sprlng hke p0551b1e)
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